Part 1
Section 6-2
Slope-intercept form: y = mx + b;   m = slope and b = y-intercept.
 Graph the line with equation     y = - ½ x + 2
Section 6-3
Standard form: Ax + By = C.  
Graph the line with equation      2x + 4y = 8 

(Use the intercepts.  Plug in 0 for x, then plug in 0 for y.)
Section 6-4
Point-slope form  y  – y = m(x  - x).  
Graph the line with equation    y – 4 = - ½ (x + 4)  

(Graph the given point, (x , y ), then use the slope to get to another point.)
Part 2 
Section 6-5 
1)  Write the equation for the line that contains (-2, 3) and is parallel to
      y = ¾ x – 4.

2)  Write the equation for the line that contains (-4, 1) and is perpendicular

      to y = - ½ x + 2

3)  Tell whether the lines for each pair of equations are parallel, perpendicular,  

      or neither. Find the slope of each equation and compare. The equations must 

    be in slope-intercept form: y = mx + b.
· If the slopes are the same, the lines are parallel.  

· If the slopes are negative reciprocals, the lines are perpendicular.  

· If the slopes are neither the same or negative reciprocals, the lines are neither parallel or perpendicular.



  y = -2/3x + 3   and   -3x + 2y = 6  

Part 3
Section 6-7

Graph these translations of y = |x|:

y = |x| -3
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